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1 Option B is correct A paraphrase is a restatement of ideas of the original text in more 
simplified, concise language. The mention of KevinΩǎ ŦǊƛŜƴŘǎ ǇŀŎƪƛƴƎ 
their instruments and Kevin tripping and 
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2 Option A is correct  In paragraphs 26 through 28, the author provides evidence for the 
key idea that Grandpa is an understanding person. The author states 
in paragraph 26 that GǊŀƴŘǇŀ άǎƳƛƭŜŘέ ŀŦǘŜǊ he hears about the new 
dent in the trumpet. In paragraph 28, Grandpa points to a dent and 
some scratches on the instrument and proceeds to tell Kevin how 
they happened. 

Option B is incorrect The author does not provide any evidence in paragraphs 26 through 
28 to support the idea that Grandpa knows how it feels to be 
embarrassed.  

Option C is incorrect In paragraph 26, Grandpa tells Kevin, ά¸ƻǳ ŎŀƴΩǘ ŀƭǿŀȅǎ ǇǊƻǘŜŎǘ 
them,έ ƛƴ ǊŜŦŜǊŜƴŎŜ ǘƻ the ownership of instruments, which suggests 
that he is not implying that Kevin should be more careful. 

Option D is incorrect Although in paragraph 28 Grandpa explains to Kevin how the 
trumpet became dented and scratchedΣ ǘƘŜ ǇƘǊŀǎŜǎ άthis is from an 
accidental bump by ŀ ǘǊƻƳōƻƴŜέ ŀƴŘ άgot these when I tripped over 
ƛǘ ƻƴǎǘŀƎŜ ƻƴŜ ƴƛƎƘǘέ are not considered storytelling, because they 
lack depth. This key idea would best be supported by paragraphs 30 
and 32. 
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3 Option D is correct A theme is a universal idea about life that is implied in a story. The 
author expresses the theme that people should be truthful about 
their mistakes; when Grandpa tells Kevin that άthe important thing is 
that you told me,έ it implies that Grandpa values YŜǾƛƴΩǎ ƘƻƴŜǎǘȅ 
more than he values the trumpet. 

Option A is incorrect In paragraphs 9 and 10, Jimmy and Ben suggest ǘƘŀǘ άmaybe 
ώDǊŀƴŘǇŀϐ ǿƻƴΩǘ ƴƻǘƛŎŜ ǘƘŜ ŘŜƴǘέ ŀƴŘ άmŀȅōŜ ƘŜ ǿƻƴΩǘ ŎŀǊŜ,έ ǿƘƛŎƘ 
the reader could interpret as sharing ideas with others, but this 
theme is not supported by the sentence from paragraph 26. 
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4 Option C is correct .ŜŎŀǳǎŜ YŜǾƛƴΩǎ ŦǊƛŜƴŘǎ ǉǳŜǎǘƛƻƴ Ƙƛǎ worry over the denting of the 
trumpet in paragraphs 4 through 10, the reader can infer that 
YŜǾƛƴΩǎ ŦǊƛŜƴŘǎ Řƻ ƴƻǘ ǳƴŘŜǊǎǘŀƴŘ ǿƘȅ ƘŜ ŦŜŜƭǎ ǳǇǎŜǘΦ 

Option A is incorrect ¢ƘŜ ǊŜŀŘŜǊ Ƴŀȅ ŀǎǎǳƳŜ ǘƘŀǘ YŜǾƛƴΩǎ ŦǊƛŜƴŘǎ Řƻ ƴƻǘ ƪƴƻǿ ŜŀŎƘ ƻǘƘŜǊ 
very well, 
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6 Option C is correct Imagery is the use of vivid language to represent objects, actions, or 
ideas. The author includes this imagery in paragraph 30 most likely 
to emphasize Grandpa
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7 Option D is correct 
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9 Option A is correct Kevin demonstrates his fears that Grandpa will think Kevin is careless 
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10 Option B is correct In line 54, takes shape is used to demonstrate how the ǎǇŜŀƪŜǊΩǎ 
idea for the drawing develops, or άforms,έ ƛƴ ǘƘŜ ǎǇŜŀƪŜǊΩǎ mind. 

Option A is incorrect The phrase takes shape does not mean άjoinsέ in line 54. The 
speaker is not joining anything together for the fridge art. 

Option C is incorrect Although the speaker is drawing and the reader may associate that 
with movement, the phrase takes shape does not mean άmovesέ in 
line 54. 

Option D is incorrect The phrase takes shape does not mean άturnsέ in line 54. The 
speaker is drawing but does not refer to physical movement. 
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12 Option C is correct The stanzas in lines 9 through 28 are alike because, in all of them, 
the speaker describes family membersΩ items. For example, the 
speaker ŘŜǎŎǊƛōŜǎ ǘƘŜ ōǊƻǘƘŜǊΩǎ ŀǊǘ ǇƻǎǘŜǊ in stanza 3, the baby 
ǇƘƻǘƻ ƛƴ ǎǘŀƴȊŀ пΣ ŀƴŘ ǘƘŜ ǎƛǎǘŜǊΩǎ ǘŜƴƴƛǎ Ǌƛōōƻƴ ƛƴ ǎǘŀƴȊŀ р. 

Option A is incorrect The speaker wants to create a piece of fridge art to be a part of the 
collection. This motivation is not discussed in the stanzas in lines 9 
through 28; rather, this is revealed in lines 49 through 56. 

Option B is incorrect The speaker references a feeling in stanza 8, line 30, which states, 
άǘƘŜƴ Ŏŀǘch sight with a thrillΦέ ¢Ƙƛǎ ŜǾƛŘŜƴŎŜ ƛǎ ƴƻǘ ŦƻǳƴŘ ƛƴ ǘƘŜ 
stanzas in lines 9 through 28. 

Option D is incorrect In the stanzas in lines 9 through 28, the speaker refers to different 
ŦŀƳƛƭȅ ƳŜƳōŜǊǎΩ ƛǘŜƳǎ ŦƻǳƴŘ ƻƴ ǘƘŜ ŦǊƛŘƎŜΣ ƴƻǘ ǘƻ ǊƻƻƳǎ ƛƴ ǘƘŜ 
ŦŀƳƛƭȅΩǎ ƘƻǳǎŜΦ 
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13 Option B is correct A theme is a universal idea about life that is implied in a poem. In 
line 40, the poet makes a reference to speed by using the word 
άǘƛƳŜέ ǘƻ ŘŜǎŎǊƛōŜ Ƙƻǿ aƻƳ ŀƴŘ 5ŀŘ grow the rosebush. Therefore, 
in addition to giving the rosebush comfort, they also allow it to grow 
at its own speed. 

Option A is incorrect 
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14 Option A is correct The speakerΩǎ question in line 5 about where to find the ǎǇŜŀƪŜǊΩǎ 
name shows that the speaker is upset about not having something 
hanging on the fridge. 

Option B is incorrect Although in line 7 the speaker asks whether the speaker is hiding 
άōŜƘƛƴŘ Ƴƛƭƪ,έ the poet uses this line to show the speaker wondering 
rather than being upset about not having something hanging on the 
fridge. 

Option C is incorrect The poet uses line 9 to identify ǘƘŀǘ ǘƘŜ ǎǇŜŀƪŜǊ ǎŜŜǎ ǘƘŜ ōǊƻǘƘŜǊΩǎ 
art poster on the fridge, not to show that the speaker is upset about 
not having art hanging there. 

Option D is incorrect Line 11 is used by the poet to describe what the speaker sees on the 
ōǊƻǘƘŜǊΩǎ ŀǊǘ poster, but the line does not show that the speaker is 
upset. 
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16 Option A is correct Since the speaker sees all the items on the fridge that belong to the 
family, the speaker starts to draw a picture in lines 53 through 56 
most likely from a desire to also share something with them. 

Option B is incorrect !ƭǘƘƻǳƎƘ ǘƘŜ ǇƻŜǘ ƛƴŎƭǳŘŜǎ ƭƛƴŜǎ но ŀƴŘ нп ǘƻ ŘŜǎŎǊƛōŜ 5ŀŘΩǎ Ǉŀǎǘŀ 
sauce recipe that the speaker is seeing, there is no evidence to 
suggest that the speaker wishes to create new family recipes. 

Option C is incorrect The reader might interpret line 19, in which the speaker sees άsƛǎǘŜǊΩǎ 
blue tennis ribbon,έ as a reference to sports. However, the speaker 
does not express the thought that drawing is more fun than sports. 

Option D is incorrect In line 56, the speaker references the new drawing and says that it is 
άŦƻǊ Ƴȅ ŦŀƳƛƭȅ ǘƻ ŦƛƴŘ,έ meaning that the speaker is most likely 
drawing this picture to share on the fridge with the family, not to win 
first place in an art contest. 
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18 Option A is correct The author begins paragraph 2 by stating that άǊŜŎȅŎƭƛƴƎ Ŏŀƴ ōŜ 
confusing,έ ŀƴŘ ǘƘŜƴ ǇǊƻǾƛŘŜǎ ǊŜŀǎƻƴǎ for this, such as different 
rules between different places. In this paragraph, the author is 
implying that this confusion can lead people to not recycle. 

Option B is incorrect The reader might interpret this sentence as an opinion because of 
ǘƘŜ ŀǳǘƘƻǊΩǎ ǳǎŜ ƻŦ ǘƘŜ ǿƻǊŘ άŎŀƴ,έ but it is a fact that the author 
uses to support the idea that recycling is quite easy for people in 
some places. 

Option C is incorrect Some people might not recycle because of the sorting efforts that go 
into recycling; however, this sentence from paragraph 2 is a fact, not 
an opinion from the author. 

Option D is incorrect 
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20 Option B is correct The author claims that laws and reminders are the best way to make 
recycling in the city better. For example, in paragraph 5 the author 
states that άwe just need laws and reminders about recycling 
ŎƻǊǊŜŎǘƭȅέ ǘƻ ǎǳǇǇƻǊǘ the idea from paragraph 1 about the city 
needing to recycle more. 

Option A is incorrect Although there are multiple occasions in the selection in which the 
author discusses recycling laws and reminders, there is no mention 
of neighbors. Therefore, the author is not claiming that people 
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21 Option A is correct In paragraph 4, the author provides details for the key idea that 
reminders can help people learn what to do with their recyclables. 
The author points out that reminders help people recycle more and 
that reminders can also ƘŜƭǇ άshare other ways to make less ǘǊŀǎƘΦέ 

Option B is incorrect Although the author states that άpeople need clear messages about 
Ƙƻǿ ǘƻ ǊŜŎȅŎƭŜΣέ ƴƻne of the details in paragraph 4 about reminders 
support the idea that people also have trouble understanding 
reminders. 

Option C is incorrect The author does mention information about research regarding 
rewards and reminders in paragraph 4, but the author does not 
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22 Option D is correct One way the authors of both selections support their claims is by 
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23 Option C is correct ¢ƘŜ ƛŘŜŀǎ ŀōƻǳǘ ǊŜŎȅŎƭƛƴƎ ƛƴ ǘƘŜ ǎŜƭŜŎǘƛƻƴ άwŜǿŀǊŘǎ ŦƻǊ wŜŎȅŎƭƛƴƎέ 
ŀǊŜ ŘƛŦŦŜǊŜƴǘ ŦǊƻƳ ǘƘŜ ƛŘŜŀǎ ƛƴ ά[ŀǿǎ ŦƻǊ [Ŝǎǎ ¢ǊŀǎƘέ ōŜŎŀǳǎŜ they 
focus on how recycling should help people as well as the planet. In 
paragraph с ƻŦ άwŜǿŀǊŘǎ ŦƻǊ wŜŎȅŎƭƛƴƎ,έ ǘƘŜ ŀǳǘƘƻǊ ǎǘŀtes that local 
lawmakers άŎan help their people and the planet at the same time,έ 
which supports this idea. 

Option A is incorrect !ƭǘƘƻǳƎƘ ƛƴ ǇŀǊŀƎǊŀǇƘ р ƻŦ άwŜǿŀǊŘs ŦƻǊ wŜŎȅŎƭƛƴƎέ ǘƘŜ ŀǳǘƘƻǊ 
ǊŜŦŜǊǎ ǘƻ ǘƘŜ ƛŘŜŀ ƻŦ ǿŜƛƎƘƛƴƎ άŜŀŎƘ ŦŀƳƛƭȅΩǎ 
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24 Option A is correct Both selections share the message that keeping recyclables out of 
landfills is important. In paragraph 1 of άwŜǿŀǊŘǎ ŦƻǊ wŜŎȅŎƭƛƴƎ,έ the 
author mentions that ǊŜŎȅŎƭŀōƭŜ ƳŀǘŜǊƛŀƭǎ άgo to a landfill instead of 
ōŜƛƴƎ ǳǎŜŘ ŀƎŀƛƴέ ŀƴŘ ƎƻŜǎ ƻƴ ǘƻ provide solutions for this problem. 
Similarly, ƛƴ ά[ŀǿǎ ŦƻǊ [Ŝǎǎ ¢ǊŀǎƘ,έ the author explains in paragraph 3 
how rewards could cause difficulty with sorting for recycling 
companies and tha92.a0ulty 
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25 For ECR items, please refer to the scoring guide. 
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26 For SCR items, please refer to the scoring guide. 
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27 Option D is correct A closing sentence of a paragraph captures the overall meaning. This 
sentence is the best closing sentence to add to paragraph 3 because 
Daisy is explaining how a dog may not want to be around strangers 
and might react by growling (sentence 16). In this sentence, the 
writer emphasizes how thŜ ŘƻƎΩǎ reaction would make the dog and 
others feel. 

Option A is incorrect Although the reader might find a relationship between the ideas of 
the tables being too close together for the dog and the dog feeling 
nervous (sentence 14), this idea introduces an entirely new topic in 
this paragraph, and a closing sentence of a paragraph should capture 
ǘƘŜ ǇŀǊŀƎǊŀǇƘΩǎ ƻǾŜǊŀƭƭ ƳŜŀƴƛƴƎΦ 

Option B is incorrect The reference to a dog being out at night is not relevant to 5ŀƛǎȅΩǎ 
point in the third ǇŀǊŀƎǊŀǇƘ ŀōƻǳǘ Ƙƻǿ ŀ ŘƻƎ ƳƛƎƘǘ ōŜƘŀǾŜ ƛŦ ƛǘΩǎ 
having a bad day, nor is it relevant to the question about the dog 
growling in sentence 16. 

Option C is incorrect !ƭǘƘƻǳƎƘ 5ŀƛǎȅ ǊŜŦŜǊŜƴŎŜǎ άȅƻǳǊ ŘƻƎέ in the third paragraph, 
whether a dog knows 
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28 Option A is correct The error in sentence 18 is the unnecessary ǊŜǇŜǘƛǘƛƻƴ ƻŦ άǇŜƻǇƭŜ 
ǎƘƻǳƭŘ ōŜ ŀōƭŜ ǘƻΦέ Revising to eliminate the second occurrence of 
these words creates a sentence that does not repeat information. 

Option B is incorrect Adding άōǳǘέ ŀƴŘ moving άŀƴŘ ǇŜƻǇƭŜέ ǘƻ ǘƘŜ ŜƴŘ Řƻ ƴƻǘ ŜƭƛƳƛƴŀǘŜ 
ǘƘŜ ǊŜǇŜǘƛǘƛƻƴ ƻŦ άǇŜƻǇƭŜ,έ ŀƴŘ it changes the meaning of the 
sentence. 

Option C is incorrect Although the revisions eliminate the repeated information, these 
changes create a sentence that is incoherent. 

Option D is incorrect Replacing the word άŀƴŘέ ǿƛǘƘ άǎƻέ does not remove the repeated 
information in the sentence. Instead, it changes the meaning of the 
sentence. 
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29 Option A is correct wŜǇƭŀŎƛƴƎ άǘƘŜƳέ ƛƴ ǎŜƴǘŜƴŎŜ ну ǿƛǘƘ ǘƘŜ ǇƘǊŀǎŜ άȅƻǳǊ ŦǳǊǊȅ ŦǊƛŜƴŘǎέ 
clarifies the sentence because this is a way to describe dogs and 
5ŀƛǎȅΩǎ ŀǊƎǳƳŜƴǘ ƛǎ about why people should not bring their dogs 
into restaurants.  

Option B is incorrect Adding άǘƘƻǎŜ ŜȄǘǊŀ ƛǘŜƳǎέ would not make the meaning of the 
sentence clear since Daisy mentions dogs throughout the entirety of 
her argument. Dogs are not items; they are pets. 

Option C is incorrect Even though the use of άǘƘŜ ŘƻƎǎ ŀƴŘ Ŏŀǘǎέ clarifies the sentence, 
5ŀƛǎȅΩǎ ŀǊƎǳƳŜƴǘ ŘƻŜǎ ƴƻǘ ƳŜƴǘƛƻƴ ŎŀǘǎΣ ƻƴƭȅ ŘƻƎǎ.   

Option D is incorrect ¦ǎƛƴƎ ǘƘŜ ǇƘǊŀǎŜ άŀ ƭƻǘ ƻŦ ǘƘƛƴƎǎέ ǘƻ ǊŜǇƭŀŎŜ άǘƘŜƳέ does not clarify 
ǘƘŜ ǎŜƴǘŜƴŎŜΦ ¢ƘŜ ǿƻǊŘ άǘƘƛƴƎǎέ ƛǎ ǾŀƎǳŜ ŀƴŘ ŘƻŜǎ ƴƻǘ identify a 
specific object, item, person, or animal.  
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30 Option D is correct In sentence 12, Chan states that the students were complaining 
about the change Mr. Walker had started implementing in the daily 
schedule. T
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31 Option B is correct In sentence 21, Chan places the ideas out of order, making it unclear 
how the students were having trouble. This revision makes the 
content clear by starting ǿƛǘƘ άLƴ ǘƘŜ Ǉŀǎǘέ ŀƴŘ connecting the 
ǎǳōƧŜŎǘ άsome of the ƪƛŘǎέ ǿƛǘƘ ǘƘŜ action άƘŀŘ ōŜŜƴ ƘŀǾƛƴƎ ǘǊƻǳōƭŜΦέ 

Option A is incorrect In this revision, the writer creates confusion with word order and 
sentence meaningΣ ǎǳŎƘ ŀǎ ōȅ ǎŜǇŀǊŀǘƛƴƎ ǘƘŜ ǎǳōƧŜŎǘ άsome of the 
ƪƛŘǎέ ŦǊƻƳ ǘƘŜ action άƘŀŘ ōŜŜƴ ƘŀǾƛƴƎ ǘǊƻǳōƭŜΦέ 

Option 
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33 Option A is correct Using άŎƭŀǎǎǿƻǊƪέ as a replacement gives the sentence clarity 
because it specifies what it is exactly that the students needed to get 
away from.  

Option B is incorrect wŜǇƭŀŎƛƴƎ ǘƘŜ ǿƻǊŘ ǿƛǘƘ άǎƻƳŜǘƘƛƴƎέ ŘƻŜǎ ƴƻǘ ƛƳǇǊƻǾŜ ŎƭŀǊƛǘȅ 
because it is equally unclear; it does not identify what it is the 
students needed a break from. 

Option C is incorrect The reader might assume that uǎƛƴƎ άƛƴǎƛŘŜέ ŀǎ ŀ ǊŜǇƭŀŎŜƳŜƴǘ is 
correct, since that is where the students are learning and need to get 
away from. However, this word creates confusion and does not 
specify what the students need to get away from. 

Option D is incorrect wŜǇƭŀŎƛƴƎ ǘƘŜ ǿƻǊŘ ǿƛǘƘ άŦǊƛŜƴŘǎƘƛǇǎέ makes the sentence irrelevant 
ǘƻ /ƘŀƴΩǎ ŀǊƎǳƳŜƴǘ, and there is no evidence to support this idea.  
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34 Option D is correct Since this paragraph is written in present tense, cƘŀƴƎƛƴƎ άǎŀǾŜŘέ ǘƻ 
άǎŀǾŜǎέ corrects when the action took place.  

Option A is incorrect άDoing choresέ functions as a noun and the subject of the sentence. 
Changing it to the verb άdoέ would leave this sentence without a 
subject. 

Option B is incorrect ¢ƘŜ ǿƻǊŘ άŎƘƻǊŜǎέ ƛǎ ƴƻǘ ŀ ǇǊƻǇŜǊ ƴƻǳƴΣ so it does not need to be 
capitalized.  

Option C is incorrect These words are homophones, which means they sound the same 
but have different meanings. /ƘŀƴƎƛƴƎ άōƻŀǊŘέ ǘƻ άōƻǊŜŘέ would 
alter the sentence meaning and make it incoherent. 
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35 Option D is correct Changing άŦƻǊέ ǘƻ άƻŦέ in sentence 3 adds clarity by correcting the 
word that shows the relationship between άǇŀǊǘέ ŀƴŘ άa team.έ  

Option A is incorrect Changing the word to άƳŀŘŜέ ǿƻǳƭŘ change the action from present 
to past, creating inconsistency in the paragraph. 

Option B is incorrect 
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38 Option C is correct In sentence 3, there is reference to only one friend, Emily. 
¢ƘŜǊŜŦƻǊŜΣ ŎƘŀƴƎƛƴƎ άŦǊƛŜƴŘǎέ ǘƻ άŦǊƛŜƴŘέ ŎƻǊǊŜŎǘǎ ǘƘŜ incorrect use 
of a plural noun. 

Option A is incorrect Changing the punctuation to a period would create a statement 
instead of asking a question. 

Option B is incorrect CƘŀƴƎƛƴƎ ǘƘŜ ǇǊƻƴƻǳƴ άƘŜǊέ ǘƻ άƻǳǊέ ǿƻǳƭŘ ƴƻǘ align with the point 
of view Fallyn used to write this story. 

Option D is incorrect CƘŀƴƎƛƴƎ άǿƛǘƘέ ǘƻ άƛƴέ ǿƻǳƭŘ create confusion within the sentence 
because people do ƴƻǘ Řƻ ǘƘƛƴƎǎ άƛƴέ ŀ ǎƳƛƭŜ; ǘƘŜȅ Řƻ ǘƘŜƳ άǿƛǘƘέ ŀ 
smile.  
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39 Option A is correct Although they sound the same, cƘŀƴƎƛƴƎ άǿƻōƭŜŘέ ǘƻ άǿƻōōƭŜŘέ ƛǎ 
needed in order to correct the spelling error in the word.  

Option B is incorrect Adding a comma would create a comma error between the two 
actions in the sentence. Because there is only one subject, this 
cannot be a compound sentence and, therefore, would not take a 
comma. 

Option C is incorrect 5ŜƭŜǘƛƴƎ ǘƘŜ ǿƻǊŘ άŀƴŘέ ǿƻǳƭŘ ŜǊŀǎŜ ǘƘŜ ƴŜŎŜǎǎŀǊȅ ŎƻƴƴŜŎǘƛƻƴ 
between the two actions, creating a run-on sentence. 

Option D is incorrect
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40 Option D is correct Although Fallyn uses άƛƴέ to iŘŜƴǘƛŦȅ ǘƘŜ ƭƻŎŀǘƛƻƴ ƻŦ /ŀƭƭƛŜΩǎ ƎǊƛƴ on 
her face, a grin cannot stretch άƛƴέ ǎƻƳŜƻƴŜΩǎ ŦŀŎŜ; changing it to 
άŀŎǊƻǎǎέ ŎƭŀǊƛŦƛŜǎ ǘƘŜ meaning. 

Option A is incorrect Fallyn wrote the story using verbs in past tense. This change would 
create inconsistency in the story. 

Option B is incorrect !ŘŘƛƴƎ ǘƘŜ ǎǳŦŦƛȄ ά-ŜǊέ ǘƻ ǘƘŜ ǿƻǊŘ would imply that there is a 
comparison, or that Callie had grinned prior to sentence 8, which did 
not happen. 

Option C is incorrect 9ǾŜƴ ǘƘƻǳƎƘ ǘƘŜ ǿƻǊŘ άǎǘǊŜǘŎƘƛƴƎέ Ƙŀǎ ŀ ǎƛƭŜƴǘ t in the middle, 
ŎƘŀƴƎƛƴƎ ƛǘ ǘƻ άǎǘǊŜŎƘƛƴƎέ ǿƻǳƭŘ ŎǊŜŀǘŜ ŀ ǎǇŜƭƭƛƴƎ ŜǊǊƻǊ ƛƴ ǘƘŜ 
sentence. 
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41 Option D is correct In sentence 9, Fallyn expresses a sudden and strong emotion, not a 
question; therefore, it should have an exclamation point. 

Option A is incorrect This creates an error showing when the action took place because 
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